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Part A _
Answer all que\stwns | -
A Each question carries 1 wezghta,ae

What are the dlﬁ'erences between Ledger and Journal.
What do you mean by Fund Flow Statement ?
State various types of profitability ratios. - S
State the cash flows from mvestmg a—ct1v1t1es
What do you mean by _]ournal proper ? |

Mention the features of Trading Account. ‘ ‘ .
o ' (6 x 1 = & weightage)
Part B - -

Answer cmy fuur questions.
Each question carries 3 wetghtage

.. Explain dlﬂ'erent accounting concepts.

Prepare a three-column Cash Book from the followmg secuntles

2018 December <

. 1 Commenced business Wlth 25 000 in cash _

| & Opened a bank account and deposited 15,000,

- 13 Arun paid 49Q in full settlement of 500."

- 15 Bought goods for cash 1500.
18 Drew a cheque for personal use 200.
20 Drew for office use 4,000, ‘
22 Bought goods for 1500 and pald by cheque 1mmed1ate1y
25 Received for cash sales 1,000. : L

- 28 Paid Sohan’s account 400 by cheque less 2 %,

31 Interest on bank E.oan b 0{}0

Turn over
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9. How Investor will be benefited by Ratm Accountmg ?
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|10. Followmg ﬁg‘ures of XYZ Company are avallable for the year ended 81st December 20 18

Net Profit Before Interest and Tax Rs. 2,75,000 ; Net Profit after Tax Rs. 9 ,20,000 ; Net Profit . -
g after interest and tax 1,106,000 ; Preference Dividend Rs. 85,000 ; ‘Capital Employed
~ Rs.11,00, 000'; Total Assets Rs. 12 65 000 ; Net worth or equity shareholders fund Rs.7,50,000. "
Calculate : (a) Return on Capital Employed ; (b) Return on Total Assets and (c) Return on

'Shareholder s Fund

15 8 State the dlﬁerence between Fund Flow Statement and Cash Flow Statement

12.. The net- profit after makmg a provision of Rs. 3,30, 000 for Income Tax of Tata Ltd. for the year
ended 315t March, 2018 amounts to Rs. 3,00,000: This ﬁgore of the net profit has been. arrived at
" after taklng 1nto account the followmg items : :

- Rs.~

_ Depreciatioh on ﬁJred assets : : o 65,000
Preliminary expenses wrltten off L a v 7,000 "
Baddebts . 1,000

Loss on sale’ offarniture . ... 1,500
Profit on sale of long-term investments .. . 5,000

Calculate Funds from Operatlons

13 DISCIISS the advantages and dlsadvantages ‘of kund FIow Statement.

Part C- N
" Answer any three questions.

Each questwn carries. 4 werghtage .

14. J ournahse the following transactmns m ‘the books of Mr. Rao. _ i
2018 August 15¢ Started busmess w;th cash 1 00 000 and goods 50, 000 and. furmture 25,000.
Purchased goods- from. Mr. Smgh of the list price of 25 000 at a trade dlscount of 12 % : '

® 1 o AW

10

18
20

25

Sold goods to Mohan of the list pnce of 30, 000 at 10 % trade discount..
‘Payment made to Slngh by cheque _ '
Loan taken from bank 85, 000 '

Paid stationery 1, 500.

Sold goods worth 15, 000 less 10 % trade dlscount and 5 % cash d1scount The sale proceeds are
-dep051ted into bank.

Cheque gwen to Smgh returned as bemg d1shonoured .

Recewed commnsswn 2,000.

Wlthdrew cash for. personal use 2, 000

Journal Entrles m the books of M. Rao

+

(4 x 3 = 12 weightage) -
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_ 15 Explam the users of Accountmg mformahon

© D 72595

_"16 Followmg are the balance sheets of X Co. Ltd. as on 3131: March 2015 and 815 March’ 2016.

Prepare Cash Flow Statement.

2016

- Liabilities : B 2015
o Rs. . Rs
 Share Capital .. 5,00,000 5,00,000°
General Reserve . 1,25,000 1,50,000.
Profit and Loss Account .. ‘ 76,250 76;500,
Bank Joan (long-term) .. 1,75,000 1,55,000
Creditors . 2,75,000  2,31,250
Provision for tax . 84,250 76,250

12,835,500 11,89,0001 |

fAddAitional Information :
(a) Interim dividend paid 25,000.

(b) Deprematmn on premlses 5 %.

' Assets

Goodwill
Buildings
lMﬁchineljy :

Plant

Stock )
.:Debtofs" '
‘Bank
" Cash

(c) Machinery of 75,000 was acqulred durmg the year

(d) Income tax prov151on for the year was 75, 000.

17. From the details glven below calculate the followmg ratlos :

(a) Net Profit Ratxo
: _(c)_ Current Ratlo. _
‘-_(e) ..'Ste'cl'c_'-.’,_l.‘_ufﬁd‘fer ratio.
Sales during the year—9,00,000.
- Gross Proﬁt—S 50,000.
_ Interest paid on loan—10, 000
" Net Profit—2,40,000. -

(b) OperatmgProﬁt Ratm
: (d) Debt Equity Ratio."

i .Sales-ReturnS‘-.mll‘O',,O0.0 =

. 2015

2016
12,500 —
5,00,000 . 4,75,000
8,75,000.  4,22,500
45,000 40,500
1,00,000 74,000
. 2,00,00_0_. | -1,60,.0_00
3,000 7,000
=~ 10,000
12,35,500  11,89,000

- Operating Expenses—1,00,000..

 (Bx4 = 12 weightage)

Turn over
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Part D

o Answer the cémpulsorfy question. 6 weighiage.
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18. Frem thé'follc‘#ing Trial Balance and Adjustments; you are required to prepare Trading and
Proﬁt and Loss Account for the year ended 31-1&-2(}18 and Balance Sheet as on that, dafe. '

Parucu!ars

| Purchases/Sales
7 Cash in hand
Cash at bank

. Stock as on 1- 1—2013&"":' T,

Wages

Retums A

_ Repau"s _
"Debwrs/cfedltors -
' Bad debts '

Discounts .

- ‘Capi;tal .

: Inter’es't" on loan:

“ Salaries.
" Rent

Insurance
~ Charity
~ Machinery

To'tal .

Ad.}ustments

('a.)

(b)
©
()

(&)

Salanes unpaid 800

. Debit

11,30,295
. 500
9,500
40,000
22,525
" 9,400

1,675

30,000
2,310

800

600

8,000
2,800
1,500

| 125
IUI8,000- L

- 2,69,030°

' Prov1de for depreclatlon on Machmery @ 5 %
Stock as on 31-12- 2018 40 925

 Credit
1,80,500

—_

195
. 50,305

830
87,500

. 2,69,030

Further bad debts 400 Make a prov:smnal of 5 % on debtors for doubtful debts

' Rent _1s paid for one year up to 315* March 20_19{

(6 weightage) -
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